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Période 3
Séquence 7  /  Résoudre des problèmes particuliers – Les fractions (2) 	 Séance 7B

Corrigés

Résous les problèmes suivants.

Problème 1 : 

1. Calcul :  18 × 2 = 36 Réponse :  36 $poMme∑

2. Calcul :  1

3
 $de 36 $poMme∑  •  36 = (12 × 3) + 0 Réponse :  12 $poMme∑

3. Calcul :  1

6
 $de 36 $poMme∑  •  36 = (6 × 6) + 0 Réponse :  6 $poMme∑

Problème 2 : 

1.
Calcul :  1

4
 $de 1 000 $roSe∑  •  1 000 = (250 × 4) + 0

	 3

4
 $de 1 000 $roSe∑  •  250 × 3 = 750 Réponse :  750 $roSe∑ $roUge∑

2. Calcul :  1 000 
_
 750 = 250 Réponse :  250 $roSe∑ $jaune∑

Problème 3 : 

•  Les géraniums : 1

4
 $de 72 $carreaux  •  72 = (18 × 4) + 0 Réponse :  18 $carreaux

•  Les marguerites : 1

6
 $de 72 $carreaux  •  72 = (12 × 6) + 0 Réponse :  12 $carreaux

•  Les pétunias : 1

8
 $de 72 $carreaux  •  72 = (9 × 8) + 0 Réponse :  9 $carreaux

•  Les narcisses : 1

9
 $de 72 $carreaux  •  72 = (8 × 9) + 0 Réponse :  8 $carreaux

•  Les dahlias : 1

12
 $de 72 $carreaux  •  72 = (6 × 12) + 0 Réponse :  6 $carreaux

•  Les roses : 1

24
 $de 72 $carreaux  •  72 = (3 × 24) + 0 Réponse :  3 $carreaux

•  Les lys :
18 + 12 + 9 + 8 + 6 + 3 = 56  
72 

_
 56 = 16

Réponse :  16 $carreaux
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